
Please work quietly on this Do Now. 
Thank you!


5p+ 4 = 39
Circle the variable term in the equation above. 



Box the constant term in the equation above.



Underline the coefBicient in the equation above.



Draw a vertical line down the equals sign to show the two 
sides of the equation.




5p+ 4 = 39



j
7
−15= 3



NOTES 
1)
 3y− 7 = 8



5)
 2w+17 = 53



9)
 2m− 9 =15



2)
 w
7
+ 4 = 6



6)
 w
7
+ 4 = 6



10)
 x
2
− 5=11



3)
 −40 = 8− 6s



7)
 −30 = −9x −3



11)
 29 = −8t −3



4)
 7+ 1
8
m = −2



8)
 −6− 1
2
n = 8



12)
 1
3
t − 9 = 3


